5 E . Bee- 206

[ Pheno]  assovidtes i bopsgnge 0 foem
timers The Voant H-ofT s lacior is 1154
What v the depeee of wssovighon of

phenpt”
a. 4
h WAl
[ YL
d w2

-4

Wheeh one of the {oHowing  sobubons
produces masimum efevation e boiling
fotig

a 9 M glucose

b0 M sucrose

g. 4.1 M Bal"f2

g 00 M MpsQ,

3 12 ¢ of aceles asad when dissolyed n 1Kk
of benvens eraised the boiling point of
benzene v 126% What s the value of
van't Hoffs factor of acetic acikd in
bensens? (Molal elevanon  consiasu o
bensene 15 2587}

a =
ho
. 5
g W03
4 Who are the number

e nuember of degpr

+ HAA == Fel)y,, bects el ”

a 12
b 4.3 1%
¢ 3
d 4
5 Cord follomome sidements

me  component svstent the
eem nember of phases fhat can
exist in egoilibrium 1 (hree

A svsiem can have neganve desrees of
treedom.

I The number of phtases i a system does
nat depend on the gmounds of the
vartows  supbstances presenl  n
3] ]al 19F]331

Whech of the sintements wiven above is/are

gorect !

a and3

b { only

CHEMISTRY

fE

Pof 12

¢. Jonly
d. Tand }

Solid carbon  reacts with  oxy
presence of 4 catalyvst b Form the
ostdes OO amd €0 What s

svstemt  once  equikiba
atistned™

Falowine provesses A%

Chigy - NOagy

RO - NN (ag)

g, bty - Onde HE s

3 Cigh+ HOigh -» COwh + Hulgd
Setect the correch answor wsing ihe codey

wiven below
a Fuandl
b 2uand3
¢ dand 4
d tandd

Whech one of the following 1s the comet
staternent® A chemical reschion will be
spoaneous 4 s accompamied Invoa
decrease of

a. eathalis of the svstem:

b, amiropy of Lhe svslem

o, mternsl ety al (Me sy sl

d  itee enerny af the syslem

For an odiabatic process. whal s the
radatecn bettwecn temipordess and
pressurs”
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42, Cotskder she Fpbfowing compoands:

£-2

Wihich one of the followimye s e cor
chassiftcation of above compoitieds
and ervidiro commpoipidy !

a,
b,

7
il
2k G

nsider

I,
H—— o
4 - '_ TFH

-l'IIF

]
BELI] —--E[vw- kL]

LL] "'“'-'"_I 10kk

CikH

. i1
H, - #
: .,-o-"""':?_
s -
n R

. 1
EFI H]
i ’ﬂ—ﬂ“:?-’
B O,

. 3= Fryflwo . T4 Fhoeo
db = Unvtheo ) 33 77
23 4+ Ervihiro
T3 Encthen; 1,4
the compound.;

MITEC profons
Prastereotomic profons
Laantiatopic prolons

Wi does e reaction of acetamid wilh

methyl magnesivm bromide Tellowed by
acid hydrobysis vield 7

i,

h.
c.
i

Acelone

t- butyl alcohod
t-buery [ amine
M-tnethy | acetsiide

bl

Which one of the Tothaing is the comrect
statement 7
I-pheivE ethsped arid  2-phety] ethoeol
ierdy B prrepared By fhe reaction of phenyl
magnesiem bromide with
a. HCHUY and CHLGCHE, respectively
b, FICHU snd &5, respectively
CHICHD and 25, respectively
Sand CHICGUH . respestt
Comsider the fotfowing renctiot

il ™ o .
m:f.%,.l.;& *T:d 'u.-."'ll"' i
Which one of the b
statement?
a0 The kemne oo

R

g COTREC

Faith PhMgBr
inedt with Phla

s obtaimed with PhdgBr

OF prowdid

tHr produces both ketone. and

ok b Foratio, whaleg PhL pives

w aleoto] as the major product

d. PhlLi produces toth ketone arid alcohat
w10k eanio, while PhMeBre gives the
Letone as the major procduct

Consider the flkowing compownds

==

3. £

Which of the above compounds exhibi
arcmaticity ™

a. 1 and 2 ondy

b Fmid 3 oonly

e, 4 and 3 only

d. {.2ond3

Asvsertion (A The phosphorescence
spevinae is ohservett ol shener
wavelengths  than the  floorescence
Spécirum.

Reason {Ry: 1) stafe has a hwer oferyy
e B sk,

WAV W@
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a Both A and R are individually true and
R ix the comrect explanation of’ A
b Both A and Roare individiaably e bt
R is not the comrect explanation of A
¢ Adsgue bun R s false
d A false bt B o e
Assertion {A): Pressure of a gas is due 10 30
the impact of collision of gas molecules
aa st the widls of the contaner
Reason R The eoilisions  between
maolecubes depend on the emperature and
are independen of natane of the gas
a  Boch A and Boare individually yrue and
R is the comect explanation of A
b Both A and R are individaalthy true but
R is not the coreet cx;:!ﬂ.nal'r{;n of A
£ Adsinje but Ros e 15
d A g false byt R 45 true
Assertion (Al Dihylgcetoseelare  pives
viscdchizb viglet colour wult lerac chiionde
Reason {R) : I exists predaminantfy in the
Leto foumn
o Both A and R oare mdividoaily e and
K is the comeet explanation of 4
b Boih A and R are individoally ime but
R is nort dhe correct explanafbion of A
¢ Ay irle by Rous False
d  Ais false bot B s e
Assertion $A): A brideehead
norbrormy] bresnide (1) is )
displacement *

Reasan

(R
bridgehead '

Carhonum  tons at
5 'g?ﬂmm be formed

arideibited

L are individually trie and

cowrect exptanation of A4

wd R oare sdividuabby woe Gt

# the correct explanation of A

Ais e mu Ris false

A ds fadse hut B 15 tene

Assertinn {A) Fhe weedler the mumber of

alkyl groups artached 40 the doubly bonded

carbon  atoms. the more siable is the

alkene

Reason (R): Delocabisation of electrong .

throush overlap Tnvobving b oamd g bond 4

arbitals  known s hyper-conjugntion,

ocrUrs 17 & greater exlent a5 the mumber of

alkyl groups 18 increased

T ]
L

Aari?
a  Bethr A and R are individually tue and
K is the correct explanation of A
h Both A and B gre mndividually true but
R s not dhe cormect explapaton of A
€ Adstreee buel R s False
d A s lalse bue Ris true
Assertion (AL UV s much more foxig
thin C'r{TE}
Reassen (R The 1osicity of Cr
tor iks poveerful osidisiog propes,
a. Boi A and R oare indeigdys
R i the cortect cxplar
b Boh A and R are
R s nit the cormy

yue hait
ol A

ipPears
certlitie, MO dierizes
e pairing of odd electron of

v A and R are individually true and

i the correce epbanation of A,

CBoth A and R are ingfividualhy e bt

R is nirt the correct explanaion of A

¢ Aors teene bkt R s alse

d A s False but R s true

Asserfion (A PCl:z exists but N does

Mot exist

Reasen (R Phespheorus 15 more glectro.

positive than nirogen

a. Borh A and R are individually 1rue and
K is the eomect explanation of A

BBl A and Roare iedividildby sgue but
R is not the correct explanalion of A

¢ Ay treee bt R lalse

d A s False but Ry true

Asserdion A1 Mahose is 2 reducing sugar

while sucrose is not

Reasan [(R): Sucrose b ketdd linkage

wheress maltose has hemiaeetat linkapse

a  Both A and R are indevidually true and
R bs the correct explanation of A

b Both A and B are indivadualby fme bt
R ts not the comeet explanation of A

& Adstrue bat Bois ialse

. Ais False but Bis true

Which one of the following is the cormect

statement?

Mivelles form only  sbove e Criticat

Micelle concentration and above the

VWX RS G
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Les
]

3

M

1%

4 abwedute wmperature Ey
b Kraft temperotan
¢ Cure temgrralre
g Mesl temperodure
Wihieh one of the Toflawing simements =
e Correyyt
o Lyoplwlne  coblosds  zre thermme
ey rutrricadly wnstable 44

b Lyvophohe  collosts  are stabahized
Lerenweally by sdsorbed wns
¢ Fopdseoms gt Tvophobyw codlods,

stabiveed Kinebcatly by the presence
of an emrdsivng agent
d  Lyophoebw colloads are destababized
hepeticaily by the  preésenee of 4
Py erser 4 the sodutum
Whech one of the reachons represented by
tie Fodloweng eioalions 15 an example of At
heoiseogencons catahy sy
5. Clbig) + Mg e Colhig)
b 280 + Ustg) e 286340
e 20 A ) 1 (g —w
IRCHOE) = 23000
d CHEAUCE R ; CIR0H I b

""""""""""" SCHACOOC2HS S = 1E200)
Wheeh oite of the Dellowiyg o the con
statcment”? The e mutertisly o '

in Faster dhan o melad catabveed 42
e bse '
i HS AChiVELOT CHETEY 15 5
LI | LT AN TR A (T 4
(LR AS () [ L ot it
d A amcreascs the hea W
Wiitch of the Liffawing statensents hoddis ) _
for Uie M ‘:ni@l ey af s 43
A Thon
neratiy of the subsine
SCTIOR Tale 1y HFst ordet e [$4
Wmgh concentration of the
rate %, the  temobest  rate s
endepemderd of [£]
A plog o the recmeval of the reactive
e agwnst the reciprial ol the a4

SLlSSErAle cOneCratnyy 1y hinear
Sedect e correct arswer g the Codes
ghven Bl

a1 omdy .k

b anty I Clectron-releasing ‘ sttt s
: wwrease e Dasiody o anthne  amd

¢ Janly checrme-withdiaws my sihstite oty

d 1 2and 3 dicrease the baswily

a1
What 1y thy cadislive transdum thal oo
from the fonwest inphet stae 1w the
ground stote sipplel 5, Known g™
a Fluotesgnee
b Phoaphorescence
N I!\'[ﬂfil:ill (M ELY AT H ]
¢ HHer 9y aem CFOsSImg
Which one of the fidlinsang sisens
cosryeet”?
d  Absorpuodg of placo iy
abweay s Teads o chemic
b The maodar
{uniiess
e The austiem y
afuiiy s Tty o
ik
Wtorde  used 0 stop
s blewsd  whach 1
oelirged s

coagulates  bBland  which
eanlively charged ol

CT 0 cepgubares hlood  whieh s
ity charged sof

¢ OV coaguiates  Blood  which s

megively charged sol
Wohich one of the Tolloweng s the corres
stateinent” Fop 4s as example of colludad
svsterm of
A wpand dhspersed 1 eas
b s despersed 4 pas
¢ silid despersed i ogas
¢ solid dispersed m hgad
Which e of Bwe follingrg comgrounds
B ertin rstepoe Foces”!

o

g Ml o,
\f

I Ll £,
4

N T

4 Gy CeN
Conander the folboewine sumemients alws
ATOTIRIEES (i

U Agemuler aioes re
fHian amnmg

ekt hyses

TT o
Gt
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3. A given substient alfoets (he hasaaty
of & awnee ard thee acedity of a2
carbusylic acid in opposile wayvs.

Whicl of the stalamnonls given abuve are

cotreet”

a. Fand 2 only

b 3 andd 3 oonby

v Famd 3 oonly

. t2ond 3

43 se-bromaanisoic gnd bromeansole are
trealad  with  Nakitln i hguid NH.
sepgrately. Wihicl one ol the followme 1x

Uz resul of thes reatmicnl?

i Baoth vishd c-dnisrehing

b. Boh vizld meanisidine
m-hromaznisele  vields  reanizidine
while  obromoanisels  velds -
ity it

¢ mbromomisele vickds  peamsidme
while o-bromannote viclds o mocure
= angd pr-anisidines

36, An atidose o axidised  separstels by

Bro M) iCandilion-A) and by HNUK

e aedidion B Which one of the Folowing

is the gorrect combtination o the prodocts

forned”

3. Uondshion= A grves aldonwe aont wh
Condition-F vields slfaric acid 8%

b Condilise-A gives zhlanc 3
Cond#ion-13 vields atdonic §

wo Cewdlion- A pives aldail ik
Comditen-B vl (I |
aldimie and aidan

d. acid whide

vivlds mnditere  of
47 with HMo™, followved
ad  geduction  with [
houme of the folimwing

Mot acil

Pentianmic acid

Hutanpic acid

48 Whach ane of the following is the carbene?

8 RiF
b, ftr=
g KA™

¢4 R’

44,

54,

(. 13
Lad

54,

frol 17

Witieh e of the foflowmye methods i not
uned for the conversion of an aldehevive |
L0 afdipembose?
a. The Rull Sethed
b The Waohl Motlaod
e Tl Fenfoo s veagent Method :
i The Kilani's Synthesis :
Which une of the fallowing speaies
present when a sedubion of ghygin
acidic’!
a. HINIH2-C004
b G, o0

L
G HaNACR e

E &
. 2]
HN-CH -

i
{ o fidit
Atring acyy
5. :

hant al isoclectric pomt.

s acils exil gy dipedar tons, %
Which of the stptoments given above are %
cortect? ;
a Fand Euiﬂ} §
b, 2 amd 3unly ;
g, Fand 3 ondy §
d ! 2and 3 :
A abdebvde ceacts with g mistuve of KON
amd NHLOT b give o prishaad (0 J LN
which wpon  hydrolvss yichis alamc,
Which o this aldchyde?

a. Formaldebyde

b Acutaldehvde

¢ Proguonabdchyde

A Donzaddehvde

Wihich ome of the folleweae 3 an oaample
of ghespha prakem?

a. Casin

b, iibvooapen

e, Thoylovin ;

d. {exnvima globaiin

Wihich of the following reaclions isoane
mamly mvelved i deving ol oils?

b Wdrogonation

I vdrolysin
A I'olvmersatzon
4. Onxidalion

BXAMFace:xtom
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Ly

5

Ldr
o

itk

Seleet the eormnt answer g the wodes
grven boeha:

a. Fami?
b Eanky

¢, Fand 3
d Fandd

How  many egupale prolons ae
conlained by TAIS. a selosence compounds
for PAIR?

a.
bk
e f2
d. T3

Which e of the followng  correcthy

demcribas a fa?

4. Fats are carboxyBe oitens deris ed from
a single atty seud. alere acid

b Fags are carboxy b estors derived from

a single aleabol, ghyoand

Fats are sodinm  salls  of

brenz enesulfoatie ackds

L)

afkyl-

o Fits oare mixtures of sedidm salts of

fonz chain unsaturated fally ooids
Which ong of e (vhowimg shows the
approxamate chemical stalls ol sphigin
pattermn o CH L OC U H T
& Hiepla {2 &) sinelel 136 ) s
123 46)
b, Sminplet {2 8) simglat ¢ 2.24
135068

b, Hmglet (3.3 &om

ether hindiage m
U235 15

"aming the follawing w the
be in water?

d. EaF

Which one of the Klowmg is e correet
stalenent? The blue sohitions of afkali
metals moigend anmon decompose very
slowly with hheration of

4 RERSOUS Ammonia

b bvdrogen avide

i

LIP

fid,

LN

Ttz
¢ nHrOReR iy
A hydeopon gas
What s he role
delergents’
a. To comtrd pM level of the detergem

conlating witer

b To zemove Ca™' oond Mg™ isms from
water thal cawse the handngas oy
To prvide shitenass w the §;
T seiubly  detergenl
phosphats,  deterpenls
Hature
Which wnong  the
stable  mwd  feus

of phosphales  in

[ ¥]

S

respreetivel ?
Loy

P i
LT L8

=3

d. 2avid 3

Which ane of the oliowing represents the
veflow solid formed on mixing decpred
PE o vapensr with an egual antount of Xe!
g el

v INeFE [P

Exel (P

g 1NE [PaFy

Thoe arc ooblc gas hvdrates of Argon,
krypton and Nenoa formed'!

a. Civabont bonds [ormation

h. Electroslabic imlesgition

LD

Mlearge rans e
Troppng of moble wis atimms m (he
vavilies ol froven waler

i

=
—

Wiy are magnstic moments of rpezkent

baptharde doms pod alfocted hy Bgands in

comppansen W those of  Ad-mansibon

medads?

a. Lanthanides  are  hemvier than  3d-
transition aretuls

b Propattios of
similar

tapthanade  doms ame

o feelecttons are mere deep seated than
delecinoms




a7

T

i,

o,

Tik

if. Larthanides show  high  coordimstion
niienher

Aguestis gon Ty solution develops

il erappge-rod  colwre o addmg

thicicyanste solathine. Wl o the cobou

duoe Lo

a. harge traaster transition

b d-d Iramsizon

¢ 6w irsnwition w e Dgand

d m-m transitien in the leand

Why is iNtenn i nearfy 10 timey more

stuble tham [N

o MHa evaporsles  casdy aml  cases
wslability  fa the [N NI
wrnmipdes

b, Hix ML ligands caose stenc hindrance
arcuaid the Wi centra

g en’ s s cheizime hgamd aml forms
thermaodyranasially ntere sballe
connprlem

L NG s the weakest liwand baown

When concenmated HOE i added w0 2

solmtion of {"eiH« t]°' ien. 2 infense

bine colovr develops due 1o the fonmation

uf which oae ol the folhowimga?

a. {CoeC 17"
b {CuCH]”
e [feCtaHah g

d. o iU .
For Pl )", the absorp)s
die 1o d-d lamsibon sl
et What v the oy
enarpy’

. 20000 o !
b, B0 am’

o [Retostaks FH coper wen A
s arz O i O’

Miach one ol the fellowmp 15 the comect
talmant?

a. b very stabic

b, disproportivnsie mio U™ md T
o 15 oxedited Ot
d ks nhuced 1o M
Whicl of the followmy tepes of bomds arc
preserl e ¢S Y 5 A3
{. Flegtrovalent

76,

By

B 12
2 oneglent
1

Crerindin e
Satool the comoct answer usimg lhe codes %
Fiven below: ;

a. Fand 2ondy
b Fand 3

e b oamd 3enly
d L 2und 3
When 1.0 3 of s wrganie sodid o
M} g of pune wiler o vapourg
towergd by Pa What
weight ol the sodid'}
a. i

. 30
R
id.
Which o

e sobuton ol fwo
withag ot lower than
fim, then it

a  nesahve  deviati from
udl s L ;

%
&
&
L
£
-
33
i+
-~
=3
s
[
L

we no devislion Fom Raoek s taw %
shens a et deviation  Frow
BemE s law ;
d. 15 atsaratid :
An agad HaA hag dissocizion constants by
S oand ke v 1w 1 What 35 1hs
conceritralien of HEY i a2 solution
preparcd by dissabvine 12 moles ol the |
acid i water o give | are of solotion :
a MM
b oM
e A M
Jdo 17\ f
(R

Whot is the appoosimstc phl value of' 1Y
MTICT andution?

a1
h 2
e 7
d

Winch one of fhe followmy s the correct
seguence  folipwed by molar sl
vimductenges of the wons'?

a L nNa K -RY

b Rk - K Na' - LY

oo Ma - RTOORR LT

d WNa K- id HE

g a given lemperature and presswre. whach
of the folfowing guaniitics must be the

BXaraee:com



TR,

79

R

2l

same for aguecns HOU amd for aqueous
KOP?

I, Trassport nomber at dtlimte dildtion.
of U1, 1701y

Maodar conductivity al mitaie dilution.
o €137 0Ty

3 lomie msolalty ot milinite dilsettos, of

CE (0T

R )

Select the comect answer using the codes 87

iwen bebow:

g | and 2 oaly

b 1and 3 only

¢ Tand 3 onh

d 1. 2and 3

An glectrochemgal cell js made  from
alominnem and  silver  clechrodes, The
stendard etecorode potentials of alaminivm

and silver dare -le6 ¥ oand 0 ORD Y B3

resprrctvely Which one of e Tilowmg

resetions takes place ol the amode?

a. Al -» Ag{agh e

b, Ap {ag) ' e = Apfs}

¢ Alsy — Al {is}j -+ 3

d. Al {agi - 32 — Alis)

TFar the reaction A v B - £, in which o

e follomwdnng sases, e ki anog

ol product witl be furmed in 3 gres

a. 1 mafk ol A and | mol ol B
Litre fhask

b, 2 mal of A and 2 ool

Hire {hask

00 mal of A and §

Frre fiask

d. 0.2 ol ol 2
lire fhay

When o

a first

L)

hite of Ube teactants, what
oyl leddt
order reaction

econd otder reactim

Pamgder first order reaction

I the Michaehs-Menten machanism fiu on
gnavme citalvsed reaction.

. - k‘l —an ;‘ -
-4 v B %3, P-E
What = the value of the Michaehs
comstam”?

h
o Fady

Fera order remction #i.

NRTI

ki -k,
A b
L
B N1tk
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Fero activation energy means the mie
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9% Wheeh one of the fodowing is the correct
stalement?
The compisgate acids of N1 and N ane
f NH2 oamd NH; rospestively
b MHY aod Wy respechividy
g NH: and NH,' respetipvely
i IH and 3:H,, reapeatively
4, £ onsider the Tollowiae stalements,
Hydropey s ovedvid by the action of cohd

diluete FINCY on

i Te

2 Ale

EFEN T

1Al

Which ol the statements grven aghine are
wanbreet?

g Fangd 4

b 2 amd 3 only
e b 2and 3
d Zamid
HHE Which ome of the followme siatemonls 15
nol ciorreel For ficavy wates "
f. Plensity is grester than thal of water
b, Ehelectric comstant w geener than tha
il water
v Froermi powdl ix hpher than shat
watyr
¢ Swrfoce bension i less than
watir
HIME Which olement among Lhe
gheotronst )
3 Arsemic
. Crermtominm

v, bbb

2 A& e fomms waler soduble
Beaems oxide A whick
et o beating. Flyvdroside
agsafuble mowater Pt seluble
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segnence of Lo s tm T and Yh ' in
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h elamiie
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Which of
¢lemenly?
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ebberwimy  are  Disstle

ol th ceavect apswer wsimg he codes
piven below

uo band 2
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g. b3 and d

d 2. 3and 4

What is e binding enevey (53 mol '} of
P AF the mass defieet is 03 ami
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Whal docs complex s fethylene diasting)
cobalil 1Y chibrtde edhibi?

4. fac-mer somorisim

n, Oiptical isomeresm
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il. Lirkage imomerizm

Crodd £y thiomalzate i nsed as 2 medicine
for restment o which e of  (he
forHew g

a. Malaria

b Authiiis

e Dhalwetes

d. Uleer

Which wne of the {ollowing  comphey
specien dees not abey the EAN rule?
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Censider e filowing shsoments;

I AN b secondary air podlaians,

0BE angd COHY saltues arg subivairs of
wteT poilytion level

Which of e statenwents given ahove siare

ettt IR

a Jenh

h. 2onb

¢ Bkl 1 ani 2

g Meither 1 oseor 2

Which ome of the follswing shuosas baper
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a. CHL=UH,
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a.  Addition

b leswertion

e, Lhmarisation

| Foaf 4%
d. Rearmangeimen
Which ome of the Following  renedive
itertnedioes 5 ivedved iR e b
culzly sed rocemismion of £ - fagtic acid?
a. Carbene
b Carbunion
v, Larbon free rilieal
A arhocatiog
Which enc of the follawing is thy
sirteinent? The miphenyl methy
A reachve  species  amd
irreversible dhsterisation 1
aminerat acid. producing
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b, wiegpheny b eihad

dry Perrsphemy] methane
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Heductive oxonolysis of an alkene Cf,
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